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QUESTION 1

Transactions can be added to DAG-based distributed ledgers without being validated but the same is not true for
blockchain.

A. True
B. False

Correct Answer: A

QUESTION 2

This sample code is vulnerable to which of the following attacks? Select all that apply A. Arithmetic

1 function withdraw(uint _amount) {
require(balances[msg.sender] - _amount > @);

msg.sender.transfer(_amount);
balances[msg.sender] -= _amount;

5}

B. Race Conditions
C. Unchecked Return Values
D. Short Addresses

Correct Answer: A

QUESTION 3

The immutability of the blockchain is an asset for which of the following? Select all that apply.
A. Asset Management

B. Data Security Secure

C. Communications

D. Transparency

Correct Answer: D
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QUESTION 4

A network design where some nodes are prohibited from communicating directly with other nodes does not compromise
the security of the blockchain.

A. True
B. False

Correct Answer: A

QUESTION 5

A blockchain-based solution best achieves which of the following goals?
A. Data control

B. Data deletion

C. Data retention

D. Data privacy

Correct Answer: C
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